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e Answer ALL the questions
e Missing data if any, may be suitably assumed
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ICT 4005

Represent linear regression model with normally distﬁbuted ITOT. Explain' four tools and

techniques that can be used to vatidate a fitted linear regression model.
Let =xy be the vadable of the. dataset, x={2.5,3,4,7,5L. 8 2,4}
y={1.5,3,4.2,6,2.3,3,5,2.3}, consider second and sixth points as 1n1t1a1 centr01ds
and apply k—means algorithm to compute centroids after two iterations.

Consider the data given in Table Q.1C, Given a new example as W =FE X =T, Y =
F. How should this example be classified using the Naive Bayes method? Show your
computations. '

Given medicine response data and tabulation for critical values in Table Q.2A, apply
suitable hypothesis test to check if all the medicines have same effect or not?

Explain stemming, Bag of words, Topic modeling with respect to Text Analytics.

Write the steps for wntmg and executing Map Reduce pro gram.

Explain each component of ARIMA model. Mention the use of Box-Jenkins methodology

_ while using this-model. -

What are the charactenstlcs and major categones of NoSQL‘? Explam
Given the input file as product.csv containing (year, product, quantity), write a hive script
to select products whose quantity is greater than 1000 and year is 2001.

Explain first two phases of data analytical life cycle with all the key activities involved in
each.
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4B. Consider the dataset with schema (id, BookName, Author, NumberofPages Readby- 3
Count, LikedbyCount)
1) Write a pig scnpt to dlsplay book and authors names which are liked by more than
- 100.readers..- e _ N
i) Write Plg scrlpt to compute on an average read counts for the books written by
each author.
4C.  What are the key outputs for each of the stakeholders in data analytical project? 2
5A.  What are the components to be configured in Driver class for Map Reduce? Consider the 5
dataset with schema (id, BookName, Author, publisher, NumberofPages, ReadbyCount,
LikedbyCount), write Map and Reduce functions for computlng the average likes for each
_ - publisher.
5B. Explain typical analytical arch,ttecture What challenges do data scientist face with this 3
7 architecture for advanced analytics.
i -5 E- -~~~ What-R-command(s)-would be- used toremove null values from-adataset? Give example 2
with simple data.
Table Q.1C
WIX|Y|C
T | T|T|T
T|F|T|F
T|F|F|F
F|T|T|F
F|{F|F|T
Table Q.2A
ML [19[20 2l 2119
M2 [ 18|19 17 [20] 10
M3 |15 | 18 | 19 [ 1719
Critical values of F for the 0,05 significance lovel:
S R D A T e R
11 16145 10960 21571 20468 23018 23399 23677 23888 24084 24188
21 1851 1900 1918 1825 1930 1983 1935 1837 1830  19.40
81 1048 985 . 938 942 . U0 884 . 889 885 881 87
4% 77 884 650 639 626 816 609 604 800 598
CUBL 881 873 54t 510 506 485 4S8 . 482 477 . 474
CUBEL 599 534 476 453 439 428 421 435 430 406
LA BBS 474 438 432 897 387 3IW I3 3E8 384
81 BS2 4460 407 384 360 988 830 844 339 845
91 512 428 386 889 548 237 420 323 338 B4
M A7 410 a7t 348 483 322 4 37 302 208
M 4B 398 359 33 320 310 30 28 230 285
LA21 476 889 349 326 a4 800 291 285 280 275
11 487 881 341 348 303 292 288 27 271 267
14] 480 a7 834 341 206 285 27 270 265 260
sk e ook stk sk ok sl sk sl e sieslokoeor
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